Angle Relationships Intervention-ACC 2018

Name: ____________________________________________ Hr. _________

In class Questions: 
1.  Two angles are complementary. The measure of one angle is 21 more than twice the measure of the other angle.  Set up TWO equations to represent this information and then find the measures of the angles using correct units on your final answers. 







#s 2-5
a.) Draw the picture if one is not given to you.
b.) Set up your geometry first and justify you set up.
Note* You may not change or rename any angles

2. If point E lies in the interior of <CFB, find x such that .
(You need to have two geometry and two justifications). 















3. If <SXT=3a – 4, <RXS=2a + 5, <RXT=111°. Find a and the measure of <RXS. 
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For # 4 & 5 
[image: ]  is an angle bisector of  <KHI,   bisects  <KHG and . 
You may not change or rename any angles
4. , and . Find d. 
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5. Find m <KHL if  and . 
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6. Find the value of the variable and find the m<PQR. Justify steps! 
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7. If and , find the possible value(s) of x , if <1 and <2  are vertical angles. You must check your work. 






















8. 7. If and , find the possible value(s) of x, , and Note: This figure is not drawn to scale. You must check your work. 

[image: Image result for vertical angles]


















Angle Relationships Intervention-ACC WARM-UP
Name: ____________________________________________ Hr. _________


1. Solve through factoring.






















2. Solve through factoring.
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In the figure, XP and XT are opposite rays.
(Lesson 14)

13. 1f m£SXT = 3a—4, mZRXS = 2a + 5, and
mZRXT = 111, find m£RXS. 22;49

18, 1f mZQXR = a + 10, m£QXS = 4a - 1, and
mZRXS =91, find mZQXS. 34; 135

Measure each angle and classify as right|
acute, or obtuse. (Lesson 14)

E F G

15. ZKFG 45°, acute 16. ZHFG 135°, obtuse
17. ZHFK 90°, right 18. ZJFE 90°, right

19. ZHF] 45°, acute 20. ZEFK 135°, obtuse
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For Exercises 16 and 17, use the figure
below. HL bisects ~KHI and HG and HI
are opposite rays.

K

G H [
16.If £1= /2, m/KHG = 70,and m£1 = 3d + 2,

find d. (Lesson 14)

17.1fms2 =a + 15and m£3 = a + 35, find a so
that HL L HJ. (Lesson 15
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Use the figure at the right to complete the statement.

1. Zland _2_are a linear pair, and so are Z1 and _?_.

><

2. Z2and _2_ are vertical angles.
3. It mZ3 = 150° then mZ2 = _2
4. 24

Find the measure of the numbered angle.
5. B~ 6. >< 7.
154>

Find mZ1, mZ2, and mZ3.

8. | 9. 10.
>3< 3190” 3N\ 2g
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Use the diagram to complete the statement.
M. mZKPL=_2_° 12. mLLPN=_2_° K

13. mZMPN = _2 14. mZMPO = _2 RN

Find the value of the variable. Then use substitution to find
mZPQR.

15.

18. The United Kingdom flag can be represented by four intersecting
lines that form cight angles. The horizontal and vertical lines are
angle bisectors, and the measure of Z1 is 26.6°. Find the measures
of the remaining angles.

2
=

= [
S BN





image4.gif




